
0619-9039-99
8 Unid.

ANEL RETENCAO ACO 
MOLA 23,2 x 1,2 

(501.025)

0675-2607-99

8 Unid.

PARAFUSO SEXTAVADO 
OXIDADO PR M16 X 50 -

DIN 933

0604-9006-99
8 Unid. 

ARRUELA PRESSAO 
ZINCADA 8,1 X 15 X 

1,98

0400-0461-99
8 Unid.

ARRUELA ACO LISA 
ZINCADA 17 X 27 X 2,0

0409-2050-99
8 Unid.

PORCA ACO SEXTAVADA 
ZINCADA/BICROMAT. 

M16 X 2

0711-9078-99
2 Unid.

MOLA GRANDE DE 
TRACAO (Ø10 x 230)

5878-0016-99
2 Unid.

CINTA FIXACAO 
PRETA 100X 2,7X 1

CHECKLIST MISCELÂNEA SAR 3500
REV. G 2023

Autor: LG

DATA:____/____/_____ RESPONSÁVEL:______________ REVISOR:___________   OP Nº_______________

0619-9004-99
12 Unid.

ANEL RETENCAO ACO 
MOLA 29,6 x 1,5 

(501.032)

0610-0092-99
4 Unid.

PARAFUSO A.A. 
PANELA 4,8 X 32-

DIN 7971 ZINCADO

0411-0005-99
4 Unid.

BUCHA DE 
FIXACAO S8 X 40

0619-9003-99
4 Unid.

ANEL RETENCAO ACO 
MOLA 17,5 x 1,2 

(501.019)

0411-0033-99
4 Unid.

CHUMBADOR 
5/16’’ W x 75x 
3/8’’ EXTERNO

0686-2472-99

24 Unid.

PARAFUSO ALLEN 
CILINDRICA M8 X 25 

PLANA OXIDADO

0400-0083-99 
24 Unid.

ARRUELA AÇO LISA 
ZINCADA 8,4 X 20 X 1,2

0411-0032-99
10 Unid.

CHUMBADOR 
M12 x 5/8" x 70



REV. G 2023
Autor: LG

0400-2012-99
2 Unid.

ARRUELA ACO 
LISA ZINCADA 5,3 
X 10 X 1,0 DIN125 

0409-2004-99
2 Unid.

PORCA ACO 
SEXTAVADA 

ZINCADA M5 X 4 

0686-2136-99
2 Unid.

PARAFUSO ALLEN 
ABAULADA M6 X 16 

PLANA OXIDADA

0409-2058-99
24 Unid.

PORCA M6 X 1
PARLOCK ZINCADA

0408-0883-99
2 Unid.

PARAFUSO 
PANELA PHILIPS 
OXIDADO PR M5 

X 12 X 8,5

0400-2046-99
2 Unid.

ARRUELA AÇO LISA 
ZINACADA 6,5 X 14,0 X 

1,2

4656-0045-99
2 Unid.

ABRACADEIRA 
COM BORRACHA 

15X16MM

0409-2064-99
2 Unid.

PORCA PARLOCK M8 
X1,25

7120-1348-98 
2 Unid.

BATENTE

CHECKLIST MISCELÂNEA SAR 3500
DATA:____/____/_____ RESPONSÁVEL:______________ REVISOR:___________   OP Nº_______________

3645-9033-99
2 Unid.

RODA DE NYLON

0409-2012-99
12 Unid.

PORCA 
SEXTAVADA 

ZINCADA M8x6,5

0400-2065-99
12 Unid.

ARRUELA LISA 
ZINCADA 8,4x16

0604-0022-99
10 Unid.

ARRUELA  DE 
PRESSÃO 
ZINCADA 

0675-2571-99
08 Unid.

PARAFUSO SEXT. 
ZINCADO M8x20 

0686-2133-99
02 Unid.

PARAFUSO ALLEN 
OXIDADO M8x60 

0682-9230-99
02 Unid.

FITA ZEBRADA 
AUTO ADESIVA


